°c ) AD

35  5dpofis ny ot en
2021
hD po fi # | 8 19 ~ 5D po fi Yo 14 =
TM:1A9 |8 A < o= — 8
- n 4 w3y Ly - o9 - -8 < b
Do fid/ o= — 3% - o= TM-”lgL . oy 9
hD pe fi < | ® ! ot @ —  # ™ 34 %Nq7A°
— zleid - #{L. -0 %k < b2 pofis
/ o= —  F=M™M=8 < - gz My Mg Mg A9



bD pofi
2021 19
tr % 0o 1
19 — b2 po fi +- = | & | #
Ao — # 8 - < AL P Y= ™V oo%g VO
| - o= 8 — USSH-= ' >
8/ o= AJANT¥%  <odq 2017 ~ =V
124 z L -8 — Ly 3 <V
— - < VL% o= < | @ 4 v ™
— — =| _[ETM-”igL L= 03 =V °



b o fi - t 4 =™ e.

2021 17
| 8 Lo d v s wofi - o480
eq eV 9l — - | & 1942 19
L 1= - <ol %
TM=|A9
|/— oo - IJ||81944
PeRE ™= Afis<s<sodgAac
-|852 — — -~ —
—tfiho «o Tfiaow' — 'R
|8 — L\/2=|O378|||=

o Yge

J »o fi ==
— 5D po fi -
== ™ o ¥

|
— P

Iver! —
— ”-N9=|=|«=>\/9
Rem 2J | 0-

_ A4 ™M= TM=| Ao



 —p—_ S X
o S

- ﬁ‘u’-'--

bce

CINEMAS

# AJANT <

bD P fi
2021 19
8 1959 Yk 61 3 # oi z> o< ™e % — %
“n L omy Ly — L 251960 —5d pofi
S B S R S
— < bDdpofi — | L =g A0
26 -~ 5D pofi — 7S -8
=V | 52 »e fi — 2" fino' ey~ |H
§E°?f|l— =8 — [ — < 8 < — AL
4{vE=- 4L E=mgav
| & Vo - < % - < d [ =3 A0
AJANT | & — & =82017 - 124 —
AL «3 =V 9 2018 - | Yse 51D <<
I-I-l—l— AL == AL IETM=I A °
8 19 %|-20 ~ %t =8 AJANTA <— #£5bD ko
fi L -8 | 4L TM=| oV 2. I 4L =| A ?/8":
_— L = 8 - ?/8 =|'|| $©\/9

4



<> ®LNG k' fis— CCR

2021 20

U’! Ot © -O°.L - Q-" -I—

8 - == INPEX—mm~ > ® LNG k' fis & k= -
3 -V 92018 — 1/g||'= - =|8qu n # L - AL
o= Mg oo k! fiy | — LNG — L Tme —
Ye|—  — 95 L k=g A0
k' fis— CCR# | ® < - % <of =24
— Jvd. T L 225 AL AMl-< 07 -
Voo



{f ot ®@nK' D ho fi=

2021 19
I - — #| Vof ore % F#M™MgqA
8 d JOGMEC e ®n o ) A
<< L -s s | e ®N N critical
minerals 4t - — d 180 ) gy #— t 8 F 3D

4 At srodg Ve

mme © O o) 1 0 ¥ L ?/8=|8 -
~ A e < =1L - == ™ ENAN

IN



2021 20

w wfi ) < —

8 L=y -1 ISR AR
8 # ]/SJll\/—ﬁI’ 9 — - I 4 I=ETM=|A3/88F>:)>
o fi | 31~ Swafi b — - eV ~Nef 3 A9 V8hD ps
fil]od>es ' Tarsf=e0s< A - Neg 5 A
b wo fi — - | 0 YsNeq ® | - b >
e fire D92 T td=™ srowefid - oo
Y ?Jlls 1L o= M3 A0

8 - == 5D »s fi — Northern Command
AL = A Tms — — 8 Q-” — < AL

2 0=|<:>\/9



